
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

10의음의지수

10 =(−1) 523.8 ÷ 10 =2

10 =(−3) 10 =(−1)

−2 × 10 =(−4) 10 =(−3)

9 × 10 =(−4) −1 × 10 =(−4)

10 =(−2) 636 ÷ 10 =(−1)

121.5 ÷ 10 =(−3) 155.6 × 10 =(−3)

635.7 ÷ 10 =(−2) 5 × 10 =0

387.7 × 10 =(−3) 6 × 10 =(−2)

−3 × 10 =(−1) 10 =(−2)

7 × 10 =(−4) −1 × 10 =
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

10의음의지수

10 = 0.1(−1) 523.8 ÷ 10 = 5.2382

10 = 0.001(−3) 10 = 0.1(−1)

−2 × 10 = −0.0002(−4) 10 = 0.001(−3)

9 × 10 = 0.0009(−4) −1 × 10 = −0.0001(−4)

10 = 0.01(−2) 636 ÷ 10 = 6360(−1)

121.5 ÷ 10 = 121500(−3) 155.6 × 10 = 0.1556(−3)

635.7 ÷ 10 = 63570(−2) 5 × 10 = 50

387.7 × 10 = 0.3877(−3) 6 × 10 = 0.06(−2)

−3 × 10 = −0.3(−1) 10 = 0.01(−2)

7 × 10 = 0.0007(−4) −1 × 10 = −10
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